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Answer: B 

QUESTION: 110 
What is recommended when creating a pool of highly available BlackBerry MDS Integration 
Services? (Choose one) 

A. Assign each BlackBerry MDS Connection Service instance a dynamic IP  
B. Assign each BlackBerry MDS Connection Service instance a static IP 
C. Assign each BlackBerry MDS Integration Service instance a dynamic IP  
D. Assign each BlackBerry MDS Integration Service instance a static IP 

Answer: D 

QUESTION: 111 
In a standard environment, which BlackBerry Enterprise Server components need to be running 
to be able to send and receive messages? (Choose one) 

A. The BlackBerry Dispatcher, BlackBerry Router, and BlackBerry MDS-CS services 
B. The BlackBerry Controller, BlackBerry Dispatcher, and Database Consistency Services  
C. The BlackBerryMailStore Service, BlackBerry Controller, BlackBerry Dispatcher, and 
BlackBerry Router 
D. The BlackBerry Controller, BlackBerry Dispatcher, and BlackBerry Router 

Answer: D 

QUESTION: 112 

Which tool can be used to help control the amount of data the BlackBerry Synchronization 

Service sends after an upgrade to BlackBerry Enterprise Server software version 5.0 is complete? 

(Choose one) 


A. SBInjector 
B. PolcTrait 
C. TraitTool 
D. SBThrottle 
E. SyncControl 
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Answer: C 

QUESTION: 113 
Which permission granted to the service account allows BlackBerry device users to send email 
messages from the device? (Choose one) 

A. Microsoft Exchange permission Send As (Microsoft Exchange 2003) / Microsoft Exchange 
permissionSend-As (Exchange 2007) 
B. Microsoft Exchange permission Administer Information Store (Microsoft Exchange 2003) / 
ms- Exch-Store-Admin (Microsoft Exchange 2007) 
C. Microsoft Exchange RoleViewOnlyAdmin 
D. Microsoft Active Directory permission Send As 
E. Microsoft Active Directory permissionBuiltIn/Administrators D - AD right Send As 

Answer: D 

QUESTION: 114 
How many instances of the BlackBerry Monitoring Service can be running in a BlackBerry 
Domain? (Choose one) 

A. One 
B. One for each BlackBerry Enterprise Server in the BlackBerry Configuration Database 
C. Three 
D. Five 
E. Unlimited 

Answer: A 

QUESTION: 115 
What can be run to determine if the server is ready to install BlackBerry Enterprise Server 
software version 5.0? (Choose one) 

A. BBPrep.exe 
B. InstCheck.exe 
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C. SysReq.exe 
D. BBCheck.exe 
E. SysPrep.exe 

Answer: D 

QUESTION: 116 
An administrator needs to deploy a large number of handhelds in a manner that meets the 
following criteria: The solution must be cost effective and require a low amount of 
administrative overhead. Which solution would accomplish this? (Choose one) 

A. Deploy BlackBerry Web Desktop Manager to allow BlackBerry device users to set an 
Enterprise Activation password and activate 
B. Deploy BlackBerry Desktop Manager and have users activate with BlackBerry Desktop 
Manager 
C. Add the user to the BlackBerry Enterprise Server and set an Activation Password, then have 
the users activate 
D. Set the "Skip Enterprise Activation Password Requirement" option to True in the BlackBerry 
Administration Console 
E. Activate the BlackBerry devices using the BlackBerry Administration Console 

Answer: A 

QUESTION: 117 
Which three actions are performed by the primary BlackBerry Enterprise Server when it goes 
through the process of demoting itself to the standby BlackBerry Enterprise Server? (Choose 
three) 

A. The primary BlackBerry Enterprise Server closes the SRP connection  
B. The primary BlackBerry Enterprise Server stops the flow of messages  
C. The primary BlackBerry Enterprise Server starts standby services 
D. The primary BlackBerry Enterprise Server informs the standby BlackBerry Enterprise Server 
of demotion 
E. The primary BlackBerry Enterprise Server stops all its services 

Answer: A, B, D 
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QUESTION: 118 
Which three services automatically start on a standby server when a failover occurs? (Choose 
three.) 

A. BlackBerryMailStore Service 
B. BlackBerry Dispatcher Service  
C. BlackBerry Router Service 
D. BlackBerry Policy Service 
E. BlackBerry Synchronization Service 

Answer: A, D, E 
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